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Why did they institute a date by 73t — PW9A2 JAT NIPON 7 NIDN

OVERVIEW

The X773 introduces us to the two different reasons why the 2°15m instituted that a
v3 needs to be dated. Mmo0IN negates other reasons for 1032 147, and explains why a
MY VA requires 7.

— )% 935D 1990Y K813 KY

The X713 could not have said that the o°»on instituted %7 by Pu -
— 1953 29190 )BT NP NYINY NINTY M H¥aN 1N YR NOHINY Y99NY 275

In order that a woman should be able to collect from her husband the payment
for her food, for which she borrowed and ate for the time which precedes the

date written in the v, in order -
— 135 DTN PHYI 1Y MY Y31 XYY

That the husband should not be able to say to her; ‘I divorced you prior to that
time’.” This seemingly explains the need for 7 in V).

moon explains why this is not a valid reason to be V2 17 PNA:
— 15 9y NYN NN ¥97 INYAT

For even without the 77 on the v3, the woman is believed as to the date of her v3, and

that he owes her for her prior M1, The reason she is believed because she has a -
— NWINY NSINY 19 1NN RY) “HYIN NINY T K 1) NN 129701 *y1 'NT 301

% that she could have hidden her ©» and no one will know that she is
divorced, and she will not show it until she wants to remarry —

mooin replies to an anticipated question:
— 4013 YN DXTYN IWTIY NYNRN TI09N XY IN N0 »1Y Hyan N¥2> ON)

And even if the husband will bring 9%0% ¥ that she was divorced (thereby

! Let us assume that the divorce took place on 7"wn 10°1 1"1. For one month prior (the month of 77x) the husband
did not supply food (m11) for his wife (as he is obligated to do). The woman borrowed money to feed herself. The
husband owes her this money. If there was no 717 on the 03, the husband can claim I divorced you in 7"ywn vaw and I
was not obligated to feed you in 77X. However now that there is a jn7 in the 03 (of j0°1 11"7), the woman will be able
to collect from her husband for her food in 27X, for which she borrowed.
% In this case the woman may be considered the X and she would have to prove when she was divorced (which
she may not be able to, causing her a loss).
? See “Thinking it over’ # 1.
* See “Thinking it over’ # 2.
> If the woman conceals her 13 she can claim she is still married and the husband is required to feed her; therefore
even if she shows the v, she is believed to claim that he owed her N1 until whatever date she claims.
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seemingly voiding her 12> that she can conceal the v3), nevertheless, in that case,
the woman will still not lose her legitimate claim, for the 77°on >7» will know
when the v was transferred,6 and until that time she is entitled to M.

Mmoo anticipates another difficulty:
— AN SNYN NN SNV 9IINY D¥aT 22 by 9N

Even though the ruling is that when a husband states, ‘I divorced my wife’, he

is believed, so this seemingly destroys her Wn of concealing the v3, because the husband will
claim I divorced you (a while ago) —

mooIn responds:
— (3,797 97 xIN3 K33) PPIMNY WA 1999INTD N3N NI RPNT 1PN

This trusting is only for the future as the X713 states in P9m w° P79 -
—INYINM INYNRYI 1IN NIPY 1981 XY NaNY) 1N 1999N)

And even regarding the future we do not find that the husband should be

believed if his wife contradicts him. Therefore she has a W of concealing her vx (and
denying that she is divorced) and receiving the N1 (she is entitled to).

mooin offers another explanation why it is not necessary to be 7 N1 by 70 because of nnrm:
- 8‘[1):02 3079 5349 DY YWHONRY 1199 1101 1PNY 129598 197 XD MmN DIVNT NI

And in addition, as I will shortly explain regarding s''9, it was not necessary to

be %7 3P0 by 1072 because of mi -
- 9cv~rv IN 19 5% 292 YWV N0 *TY \’)‘p‘.‘lb AYNN N9 %92 PPN 17°9NT

For even if there is no 327 in the v), the woman can ask the 79°0» 7 that they

should testify before 7''52 or other witnesses -
— 9NN 9OV N 1NN NYNN DPNIY

That she was divorced today, and they (7"°2 or the 2°7v) will write for her a
separate note when the divorce took place; it is not necessary that it should be in the va.

mooIn reconsiders this last explanation:

% The concern is that the woman should not lose out on the M which she is entitled to. Moo explains that she
will never lose out; if the husband does not bring n"v that she was divorced, then she can conceal the vx and receive
mn for as long as she wants (even illegally), and if he brings 1"y, she will receive the 1117 she is entitled to.
" The reason he is believed X379 1827 and not ¥191° because it is 17°2 to divorce her as of now, but he cannot divorce
her retroactively.
¥ See v "7 ‘o "2 MY,
? See w"wA that Moo does not mean that the »"y should testify before other 07y and they should write the Tw, for
then it is 7 *on 7 which is 2109, but rather N0 means the woman should approach other 07y who saw the n7°on
07 even though they were not the designated n"y.
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— 157 $1%29 NNY a9 N0 1Y I8N XY XY 91519)
However this explanation may not be sufficient, for perhaps the »'"y will not be

willing to come with her to - 7''52
— AYAINY DY IMNNY NN DY 1Y 13099 L or1yY 9999 1N

Or to tell other witnesses, so that they can write for her a "uw that she was

divorced from this day (therefore it may be necessary to have 121 in the 3 so she should not
lose her M) —

mooin offers a third reason why we do not say that they were 77 1201 because of Mnm:
— (N2N5N NYWA NWI) RHYI 175 NOY TN 77095 NN 00¥D )101N 219 JY NAYTN)

And it may be just the opposite that through writing the date on the ©v3 she may
occasionally lose out on the nmiy» unfairly, in a case where he did not divorce
her at the time of writing the v3."”

nvoIn asks:
— 1% 92 93P NNIY NINY VN 9NN ON)

And if you will say; and why did they institute 32t by an emancipation note of
an "3 72 —

mDoIN anticipates a possible reason and rejects it:
— 99NNYI D IMNNY I 12N )7 2D N2 DY 93 11T NI 19 NYYN DIVN INT

For if it is because of his handiwork (that his previous master should not claim
his 17> nwyn after he was freed); this cannot be the reason, for even without the
YAt written in the M17°w v, the 72¥ can come to 7''s2 with his MY v and 7"°2

will write on his behalf that he was freed from this day onward, so there is no need
for a1 in the MW V3 —

mooIN rejects another suggestion why there should be 7 in a MW va:

' The %"w=m omits this entire parenthesis [from 1771 until 722n37] and claims it is a gloss. The 2"wmn deletes this
because later (see footnote # 8) mooIN uses this X720 to explain *"1 and does not mention this 131 17°21. However the
R"w7nn sustains this X072 of 72°n277 121 37°M1 and differentiates between our case and °"1 later. Regarding >"1 who
maintains 71°N3 NYW 7Y M0 Hyab v it is understood that she cannot lose the Mo, for as soon as she receives the 03,
she will ask two people to write her a W that they saw the v by her on this date. However here (where we are
discussing her M) even if two 2 7y testify that the saw the vx on her possession on this date, nevertheless the
husband can still claim that he divorced her previously. Her only option is to find the 77°0n 7% who will testify when
she actually received the v3; regarding the 77701 *7¥ it is possible that they will not want to go to 7"2, etc.
" See footnote # 9 and n"ma.
2 He wrote the v3 and dated it on 7071 "1 and did not divorce her until 7»& 11"9; she will lose out on the n171°® of the
entire 70°1 w1 (if she had to borrow for that month).
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— 1135097 01 1T NYPNT AT 1N 1Y 99T 199NN 1918 MINT INIY 1999N)
And even according to the one who maintains that ¥ 21 v¥2nma 7,
nevertheless in this case, the 72¥ will not own his v awyn from the day the v

MY was written and signed by the o7y -
— 2193 51 19311 N3 PPN )T 13 PRY 1199

Since there is no 327 in the document and it is not evident from this document
when it was written and signed —

mooIn proves his point that the 72y is not 72°N2 NYwW» 1°7° AWYH2 7217 if there is no 17
— B4R 0192 RN MY %WA M5

Just like a case of two notes that have the same date, where the ruling is -
— 135 199NN 19 900Y AT 1Y 19T 12NN PTY ANT $ANY 1959NT

Even according to a8 who maintains Y» 957 2nn2 17w, that the one who

received the "vv first acquires it -
— 5595 792010 1Y 9INT TYIN 299 920 ANT YNIYN (3,0 97 prmao) 9992 N P934

For in 7712 ;71 711 it seems that 2K agrees with X' who maintains '®n1s »"y -
— (3,78 mamm) YWY ANV 5 D993 NAMTI NP AYINM 1Y 9DY AT A HY TIYIN Y29

13 »9% maintains (R,» n"2) that 12 151 vminna 17y, which means that when 2°7v sign a aR27 “vw (for instance), even
though the loan did not take place as of yet (it took place sometime later), nevertheless since the 0’7y already signed
the "vw, they grant to the M?» (for whom the 0w is being written), the T1avw on the ¥pap of the 7. If the m? sells
his vpap after the "vw was signed (even before the loan took place), the m7» can collect this ¥pap for his debt.
Similarly here we may assume that as soon as the 07y signed on the 17w v, the 72y is 17" Awyn2 727, even though
he did not receive the MW L3 yet (as the case is by a X127 7uw). Therefore it is necessary that there be a1 on the
MINY WY so the 72V can reclaim his 17 7wyn from that date onwards, for if he relies solely on the 7"°2 (without 727),
then he will only be able to retrieve his 17 qwvn from the date he received the 1191w W, but not from the day it
was written, which would cause a loss for the 72av.
'* nooIn rejects this reasoning, for if there is no 1 on the Mnw V3, the 72y is not 7° AWYn 71911 from the time of the
72°n3 on account of Y2 P21 PMINn2 17y, for since there is no 11, we do not know from the qvw when it was signed.
The 72y is not losing anything by not having j»7, because if there is no a1, he is not entitled to 1"7> 7w¥» until he
receives the 7w, and then he can go to 7"°2 and have them verify the date of his Mnw.
15 123X sold the same field to *Y?1 w»w (individually) and the date was the same on both n1vw, the question is who
acquires the field.
'® Seemingly one would assume that if we maintain "2 ¥»nma 179, then we should verify which 70w was signed first
and that person should acquire the field (or if it cannot be verified it should belong to both of them). maoin rejects
this notion.
' The X3 there discusses a 7in 70w that was signed by two brothers-in-law; 701 21 ruled that if there are 777on 7y
o w> (besides the 7n°nn >7v) it is a valid minn. However *aR challenged him that 13107 77122 X" 770, that it is 9109,
It would seem from his question that »aX agrees that °n7> n"v. See ‘Thinking it over’ # 3.
18 There is a nP1onn by s (and all other 13p *vw) between X" 1" as to what makes the o effective (which o7
make the 1°Ip or Pw17°a effective). »'"7 maintains >n72 1"y, while X'"9 maintains °n75 2"y,
' The X3 there cites a nP1onn between HRMWY 27 regarding TR 212 PRYPT Mvw 2 (see footnote # 15); 17
maintains 171> and YR maintains X177 X7TW (the 77 decides whom to give it to). The X3 concludes that 27
agrees with »n"9 that °n73 1"y and therefore they both have an equal right to it. However 98mw agrees with X" that
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And according to X' perforce you must say, that the one who received the 0w

first acquires it, as is evident in "1 57w 5 PP -
— 19951 NN NI RIHN 1D 1997 19199NNA 17Y 139N NI4T DIVN 139979

And the reason for this* is because we do not say ¥ 121 ¥»nna 197 unless it is

evident from the uw; however by the nMvw "2 it is not evident VW TiN» which VW was
signed first and therefore 1°mnn2 17V does not apply -
— D95 11112 N2 NOD PTN NI

And the same rule applies here where there is no 27 at all, that there is no rule of

1mnn2 17y, Therefore the 72v is not suffering any loss if there is no 1. The question remains
why were the 12T 170 021 by a Mnw L.

nv0IN answers:
—973¥ 991 DN NPNY DY PIT N2 NN KD INT AT NPNT PHY 19929 9IIN)

And the 59 answers; that the 2°no1 were 2t jpn» by v va, for if there
would not be 32t by a MW v, it may come to pass that occasionally a person

will sell his T2y -
— | N2 999N V) Y A 72 NN

And later this same owner would write a 919w wa for this 72v without 377 -
— NYY 01D OV 991 Y0VY ORI NN 7Y 129D TayN 9N NI

And this 72y would say to his second master, ‘bring proof that you bill of sale
was written before my 9w WY’ —

mooIn explains why the new buyer would have to prove that his 7on 70w precedes the MMw WWw:
— TIAYYN 19910 NOXINT NI NPITNI MYV PN NIN TaynV

For the 72v is in possession of himself, and the buyer is coming to extract from

him this lien on the 729, so we would say to the buyer, the 72y is the pim» and you are the
X°x1, therefore X171 1oy 1an» &*xnn. That is why 11 is required for a MY v —

Mmoo responds to an anticipated question:21
22 nunn N9 PN Y¥an NoN YaN
However, here the husband is the P12, but not the wife.

N3 n"y (we just do not know who received the 70w first) so we rely on X177 XTw.
2 How can we give it to the one who received it first, if we maintain as *ax does that 17 1°31 1012 7Y, so it should
belong to either both of them, or the one whose 7vw was signed first!
2! Let us say the same reason by ua, that if there would be no 111 by b3, the woman would be X°¥m the M2 from the
mmp? or the P¥2 by claiming she was divorced earlier. n190In rejects this question.
> When the woman marries, the M’ are in the possession of the husband; there she must prove when she was
divorced in order to be N171°0 X% from the ¥ or MMPS.
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SUMMARY

A woman is believed as to when she was divorced, regarding M1 (for she has a
w1 to conceal her vi). A husband is believed that he divorced his wife, only
regarding the future, provided his wife does not deny it. Y2 1°31 1"mnn2 1°7v only if
there is 27 in the “ww. They were a7 PN by MW vl so the 72¥ should not
challenge his new owner (that his 177w 0w preceded the 721 WW).

THINKING IT OVER

1. mooIn states that even with a v} without 127 the woman will be believed to
collect her M from her husband.” Why do we not say, that this is the reason we
need 0732 171 for otherwise the woman will illegally collect m1» for the time after
her divorce, because as N1901n states she is always believed with a 11?**

2. MooIn states that even with a v} without 127 the woman will be believed to
collect her M1 from her husband because she has a wn of concealing her v3.>
However, there is a rule (according to n2o1n) that 71K K2 ®*x177 Wwn!*°

3. How can we reconcile what *2R8 maintains Y7 127 2012 17 indicating
(seemingly) that *n75 1"y with that which Mmoo assumes that 2% maintains® n"y
n757

2 See footnote # 3.
# See (T X"wmn and »n'm.
3 See footnote # 4.
% See 0" .
7 See footnote # 17.
% See n"ma.
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